NI\ 09
gef&&\m- @mfnfﬂg l\/w\lsﬁnmt)
S<s0.,2 - -0 5 Kk

mex | S) _ uny X2 00 X %E

Q=% 01,348 oy ()= 2
< %3238 nox (S) =0







Clam
X & P < %CX‘} =0
Cenob

xeN f M(X\/\p:?¢

Yo show \\\\ N
) >0k }SGN ) <k, Ql\‘ﬂso




g\m{b\eﬁ\" oL P‘L 80’“\’



- Om pu.v

KB Raor~ore UL, (’3%‘ - Luk NOQ{
wh ol ol

0 \Whols P&, | Beo ot an ol rusdas

%(%\—' :

A Q) | AU 2 Y s 6 ~7 (¥4 0\ 10
aw a4 o6 4 1 3 2 U4 3



9lak) =< fe- i )

0, S § Uy
Y (Oh-) = K Far cocu A
9(”&\ ml/‘l% 3‘)(%‘3) %l% Zv) o _,8[@) E
k-2 k-3
=k
o(Ak-) < v 3 g(2k-3) JS(Z%—()J, .- ()())Jj’lof
{fe—l) -2 |






Qots=00 1 00 O

= %






